Name Date Class

Practice B
[l Polynomials

Identify the degree of each monomial.
1. 6x° 2. 3p°m* 3. 2x%°

Rewrite each polynomial in standard form. Then identify the leading
coefficient, degree, and number of terms. Name the polynomial.

4. 6 + 7x — 4x° + X%

5. x2 — 3 +2x° + 7x* — 12x

Add or subtract. Write your answer in standard form.
6. (22 —2x+6)+ (1x®—x*—2+5x) 7.(x*—8) - (38x® + 6x— 4 + 9x%)

8. (5x* + x?) + (7 + 9x® — 2x* + x°) 9. (12x* + x) — (6 — 9x® + x” — 8x)

Graph each polynomial function on a calculator. Describe the graph,
and identify the number of real zeros.

10. f(x) = x®> + 2x* — 3

1. f(x) = x* — 5x% + 1

Solve.

12. The height, h, in feet, of a baseball after being struck by a bat can be approximated
by h(f) = —16t° + 100t + 5, where t is measured in seconds.

a. Evaluate h(t) for t = 3and t = 5.

b. Describe what the values of the function from part a represent.
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Practice B

Polynomials Polynomials
Identify the degree of each monomial. Identify the degree of each monomial.
2 2,2
1. x 23 3.ab 1. 6% 2. 3p°m* 3. 26%°
2 0 4 2 7 11
2 5
4. 7x 5. 4xy 6. 2x Rewrite each polynomial in standard form. Then identify the leading
1 3 5 coefficient, degree, and number of terms. Name the polynomial.
4.6+ 7x—4x° + x*
Solve. — 4x°® + x* + 1x + 6; —4; 3; 4; cubic polynomial with 4 terms
7. a. Rewrite the polynomial 2x* + x° + —7x + 1 3 2 5. x* — 3+ 2x° + 7x* — 12x
in standard form. X" +2x"—Tx+1 5 a P — . .
1 2x° + 1x" + x° —12x — 3; 2; 5; 5; quintic polynomial with 5 terms
b. What is the leading coefficient?
c. What is the degree? 3 Add or subtract. Write your answer in standard form.
d. How many terms are in this polynomial? 4 6. 2% —2x+6)+ (11— x—2+5x) 7. (x*—8) - (3x° + 6x— 4 + 9x°)
e. Name the polynomial. Cubic polynomial with 4 terms 11x*+ x2+3x+4 —3x*—8x2—6x—4
8. a. Rewrite the polynomial 5 — 3x + 4x® in 2
standard form. 4x" —3x+5 8. (5x* + x?) + (7 + 9x* — 2x* + x°) 9. (12x° + x) — (6 — 9x* + x” — 8x)
. ) ot 4
b. What is the leading coefficient? 3x4 + x4+ 10X2 +7 —x 4+ 21x% + 9x— 6
c. What is the degree? 2
d. How many terms are in this polynomial? 3 Graph each polynomial function on a calculator. Describe the graph,
. . P and identify the number of real zeros.
e. Name the polynomial. Quadratic trinomial 4

Add or subtract the following polynomials. Write your answer in
standard form.

9. (6x+7) + (3x +8)
9x + 15

10. (5x—3) — (3x+9)
2x —12

1. (2 +3x+4) - (@ +x+2) 12. (x® = ax + 5) + (=2x* + 7x - 10)

X +2x+2 —x*+3x—5
Solve.
13. Britt has 4 full boxes plus 12 extra CDs, and Jim has
3 full boxes and 5 extra CDs. If the number of CDs in
each box is represented by c, write an expression that
shows the total number of CDs that Britt and Jim have. Tce+11
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10. f(x) = x>+ 2x° - 3

From left to right, the graph increases, decreases slightly, and then
increases again. It crosses the x-axis once, so there is 1 real zero.

1. f(x) = x* = 5x* + 1
From left to right, the graph alternately decreases and increases, changing
direction 3 times. It crosses the x-axis 4 times, so there are 4 real zeros.

Solve.

12. The height, h, in feet, of a baseball after being struck by a bat can be approximated
by h(t) = —16t% + 100t + 5, where tis measured in seconds.
a. Evaluate h(t) fort=3and t = 5. 161 ft and 105 ft

b. Describe what the values of the function from part a represent.

The height of the baseball 3 s after being hit by the bat and the height of
the baseball 5 s after being hit by the bat
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5.1
6-1
Rewrite each polynomial in standard form. Then identify the leading
coefficient, degree, and number of terms. Name the polynomial.
1. 5x% + 2x — 1 — 10x® + 9x° — 3x*
9x° — 3x* + 5x° — 10x° + 2x — 1, 9; 5; 6 terms;
quintic polynomial with 6 terms
Add or subtract. Write your answer in standard form.
2. (7x® +2x—1) + (8x° = 6 + 2x — x°)
6x° +8x° +4x—17
3. (12 — 11x - 5x°) — (4x* + 8x — 4x° + 2x° — 1)
—x°—4x* — 2x°® — 19x + 13
4. (-3x" +x° —9x® +2x* = 7) — (—2x° + x — 4x® — x* + 12)
X —Ix" —2x" +6x*—x—19

Solve.

5. What polynomial could you add to 3x* — 9x® + 5x* — x + 7 to get a sum of
3+ 4x* + 3x — x° + 3x*?

x'+8x° —2x*+4x—4

6. What polynomial could you subtract from 5x° — 12x — x* + 9 — 12x° — 6x* to give
a difference of 19 + 8x° — 18x — 19x° — 2x* — 8x"?

x° +2x* = 3x° + x* + 6x — 10
Graph each poly ona
and identify the number of real zeros.

7. f(x) =2x° — 6x + 1
From left to right, the graph increases, decreases substantially, and then
increases again. It crosses the x-axis 3 times, so there are 3 real zeros.

8. f(x) = 5x* + 4x* — 5x — 3
From left to right, the graph decreases and then increases. It crosses the
x-axis twice, so there are 2 real zeros.

Describe the graph,

Solve.

9. The profit, P, earned by a small business each year can be modeled to fit
the polynomial function P(y) = 10y — 50y* + 20y + 100,000, where y is the
number of years since 1990. Did the company’s profits increase or
decrease in 1995, compared to 1994?

Profits increased from 1994 to 1995
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Practice C Reteach
Polynomials Polynomials

The degree of a polynomial is the value of the exponent of the term of the greatest degree.
A polynomial is in standard form when the terms are arranged in order with exponents from
greatest to least.

Degree | Polynomial in Standard Form

0 3 <;_l Constants have degree 0.

22X +3 ) This third degree polynomial
X" +4x-5 has 2 terms.
4x° - x —

This fifth degree polynomial
has 3 terms.

[SAESESILSA B

6x* + x> —5x° +3x— 1 l
9X5+X371%

To arrange the polynomial 3x* + x* — 2x + 6x° — 7 in standard form, order the terms from
greatest to least exponent.

6x° + x* +3x° —2x— 7

6 is the leading
coefficient of this
polynomial.

Rewrite each polynomial in standard form. Then identify the leading
coefficient, degree, and number of terms of each polynomial.

1.2x+x*—x* -5 2. 5x° + 3x* — x

Standard form: x° — x* + 2x — 5 Standard form: 3x* + 5x% — x
Leading coefficient: 1 Leading coefficient: 3
Degree: 3 Degree: 4
Number of terms: 4 Number of terms: 3

3. 6x° + 7x° 4. -3 +x* —x-2x°+8

x* —2x® — 3x*

5 3 —
Standard form: __ X~ + 6X Standard form: x+8
Leading coefficient: 7 Leading coefficient: 1
Degree: 5 Degree: 4
Number of terms: 2 Number of terms: 5
2&)2%&2!':;:'%:;"‘ Rinehart and Winston. 6 HD" Algehra 2

Copyright © by Holt, Rinehart and Winston.
All rights reserved.

75

Holt Algebra 2






